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! For simple pendulum the formula of time period is:
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% Frequency is equal to:

(a) /=%
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3 The example of shock absorber of the vehicles are:
(a)SHM (b) Vibratory motion

(c)Damped motion (d) Linear motion

4 Which waves do not require medium for their
propagation?
(a) Sound waves (B) Mechanical waves
(c) Electromagnetic waves (d) all of them

5 Radio waves are:
(a) Longitudinal waves (b) Trangverse-waves

(c) Electromagnetic wavesd@) All of these

6 Waves transfer:
(@) (b)

(c) (d)  Engery
7 The relation between velocity, frequency &

Frequency Wavelength

Velocity

wavelegnth for waves is given by:
(@) yf =2 ®) /2=y

=7 @' 7

8 If the speed of a wave if 340ms-1 and
wavelength is 0.5 m, then frequency will be.

(a) 170 Hz (b) 340 Hz
(c) 3400 Hz (d) 680 Hz

(a)
(c)
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